BANK BRADESCO Form 6-K March 14, 2017

UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of March, 2017 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-FX Form 40-F
Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.
Yes NoX

CONSOLIDATE FORM

Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Openning Balance

Group and Family Dependants

		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares Non-Voting Shares	2,028,821,219 62,644,292 Closing Balance	73.0632 2.2559	36.5316 1.1279		
	· ·	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		

 Common Shares
 2,028,821,219
 73.0632
 36.5316

 Non-Voting Shares
 62,644,292
 2.2559
 1.1279

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.							
Group and Family Dependants	(x)Board of Directors	() Board of I Office		() Aud Commit		() Technical and Advisory Agencies	
		Openning I	Balance				
						% of participation	
Type of Securities/Derivatives					ty	Same type of Shares	
	Common Shar	es		18,9	38,416	0.6820 0.3410	
	Non-Voting Sha			28,2	21,861	1.0163 0.5081	
		Month Mov	vement				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$	
Non-Voting Shares		Buy	10-Feb	2,277	31.95	R\$ 72,750.15	
Non-Voting Shares		Buy	10-Feb	499	31.96	R\$ 15,948.04	
Non-Voting Shares		Buy	10-Feb	142	31.97		
Non-Voting Shares		Buy	10-Feb	406		. ,	
Non-Voting Shares		Buy	10-Feb	259		' '	
Non-Voting Shares		Buy	10-Feb	436		. ,	
Non-Voting Shares		Buy	10-Feb	439		R\$ 14,052.39	
Non-Voting Shares		Buy	10-Feb	735			
Non-Voting Shares		Buy	10-Feb	114		• •	
Non-Voting Shares		Buy	10-Feb	38	32.04	' '	
Non-Voting Shares		Buy	10-Feb	37	32.05	' '	
Non-Voting Shares		Buy	10-Feb	33	32.06		
Non-Voting Shares		Buy	10-Feb	2	32.07		
Non-Voting Shares		Buy	10-Feb	23	32.08	·	
Non-Voting Shares		Buy	10-Feb	66	32.09		
Non-Voting Shares		Buy	10-Feb	49	32.11	R\$ 1,573.39	
Non-Voting Shares		Buy	10-Feb	28	32.12	·	
Non-Voting Shares		Buy	10-Feb	52	32.13		
Non-Voting Shares		Buy	10-Feb	61	32.14	' '	
Non-Voting Shares		Buy	10-Feb 10-Feb	3	32.15	•	
Non-Voting Shares		Buy	เบ-คย	33	32.16	R\$ 1,061.28	

Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	47	32.19	R\$ 1,512.93
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	3	32.26	R\$ 96.78
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	7	32.28	R\$ 225.96
Non-Voting Shares	Buy	10-Feb	3	32.29	R\$ 96.87
Non-Voting Shares	Buy	10-Feb	40	32.30	R\$ 1,292.00
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb		32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,496.96
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb		32.68	R\$ 23,202.80
Non-Voting Shares	Buy	10-Feb	1,544	32.69	R\$ 50,473.36
Non-Voting Shares	Buy	10-Feb	1,871	31.95	R\$ 59,778.45
Non-Voting Shares	Buy	10-Feb		31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,539.74
Non-Voting Shares	Buy	10-Feb		31.98	R\$ 12,887.94
Tion voing onales	ьшу	10-1 60	403	01.30	1 (ψ 12,007.34

Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
•	•		115		R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.03	
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
_	-	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	22		R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
ŭ	•				• •

Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb	892	32.63	R\$ 29,105.96
Non-Voting Shares	Buy	10-Feb	1,643	32.64	R\$ 53,627.52
Non-Voting Shares	Buy	10-Feb	454	32.65	R\$ 14,823.10
Non-Voting Shares	Buy	10-Feb	452	32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb	499	32.67	R\$ 16,302.33
Non-Voting Shares	Buy	10-Feb	711	32.68	R\$ 23,235.48
Non-Voting Shares	Buy	10-Feb	1,039	32.69	R\$ 33,964.91
Non-Voting Shares	Buy	10-Feb	360	31.96	R\$ 11,505.60
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	437	32.01	R\$ 13,988.37
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	•	10-Feb	27	32.11	R\$ 867.24
•	Buy	10-Feb	55	32.12	R\$ 1,767.15
Non-Voting Shares	Buy		60	32.13	·
Non-Voting Shares	Buy	10-Feb 10-Feb	5	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 160.75
Non-Voting Shares	Buy				R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36

Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,642		R\$ 53,594.88
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	101	32.66	R\$ 3,298.66
Non-Voting Shares	Buy	10-Feb	63	32.67	R\$ 2,058.21
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	10	32.69	R\$ 326.90
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	404	31.98	R\$ 12,919.92
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb		32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	31	32.06	R\$ 993.86
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 1,735.02
Non-Voting Shares		10-Feb	60	32.14	R\$ 1,928.40
•	Buy	10-Feb	4	32.14	R\$ 128.60
Non-Voting Shares Non-Voting Shares	Buy Buy	10-Feb	31	32.15	R\$ 996.96
_	•		6	32.10	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.17	R\$ 193.02 R\$ 2,316.96
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88

	_				
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
_	•	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy		155	32.39	
Non-Voting Shares	Buy	10-Feb			R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391		R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	-	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	100		R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
<u> </u>				31.95	
Non-Voting Shares	Buy	10-Feb	1,063		R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	497		R\$ 15,884.12
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb		31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435		R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54

Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
•	-	10-Feb	24	32.25	
Non-Voting Shares	Buy				R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,378.20
-	•				•

Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,772.09
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb	452	32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	452	32.66	R\$ 14,762.32
Non-Voting Shares	Buy	10-Feb	504	32.67	R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb	557	32.68	R\$ 18,202.76
Non-Voting Shares	Buy	10-Feb	200	32.69	R\$ 6,538.00
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	498	31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	402	31.98	R\$ 12,855.96
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74		R\$ 2,381.32
Non-Voting Shares	•	10-Feb		32.10	R\$ 1,512.93
Non-Voting Shares	Buy				
•	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45

Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	273	32.61	R\$ 8,902.53
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	1,647	32.64	R\$ 53,758.08
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	451	32.66	R\$ 14,729.66
Non-Voting Shares	Buy	10-Feb	501	32.67	R\$ 16,367.67
Non-Voting Shares	Buy	10-Feb	559	32.68	R\$ 18,268.12
Non-Voting Shares	Buy	10-Feb	197	32.69	R\$ 6,439.93
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	497	31.96	R\$ 15,884.12
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.12	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	-	10-Feb	5	32.14	R\$ 160.75
•	Buy				
Non-Voting Shares	Buy	10-Feb 10-Feb	32 8	32.16 32.17	R\$ 1,029.12 R\$ 257.36
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	73 49	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80

Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
	•	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy		51	32.56	
Non-Voting Shares	Buy	10-Feb			R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57 32.58	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb		32.59	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,772.09
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb	451	32.66	R\$ 14,729.66
Non-Voting Shares	Buy	10-Feb	504		R\$ 16,465.68
Non-Voting Shares	Buy	10-Feb		32.68	R\$ 18,268.12
Non-Voting Shares	Buy	10-Feb	199	32.69	R\$ 6,505.31
Non-Voting Shares	Buy	10-Feb	1,063	31.95	R\$ 33,962.85
Non-Voting Shares	Buy	10-Feb	498	31.96	R\$ 15,916.08
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	729	32.02	R\$ 23,342.58

Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	47	32.19	R\$ 1,512.93
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
•	•	10-Feb	24	32.25	
Non-Voting Shares	Buy				R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,345.60
	zay				

Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31		
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28		
Non-Voting Shares	Buy	10-Feb	892	32.63	R\$ 29,105.96		
Non-Voting Shares	Buy	10-Feb	1,637	32.64	R\$ 53,431.68		
Non-Voting Shares	Buy	10-Feb	453	32.65	R\$ 14,790.45		
Non-Voting Shares	Buy	10-Feb	453	32.66	R\$ 14,794.98		
Non-Voting Shares	Buy	10-Feb	500	32.67	R\$ 16,335.00		
Non-Voting Shares	Buy	10-Feb	556	32.68	R\$ 18,170.08		
Non-Voting Shares	Buy	10-Feb	207	32.69	R\$ 6,766.83		
Non-Voting Shares	Total		93,594		R\$ 3,028,390.98		
	Closing Balance						
					0/ (!!!!!		

% of participation

Type of Securities/Derivatives	Quantity	Same type of Shares Total
Common Shares	18,938,416	0.6820 0.3410
Non-Voting Shares	28,315,455	1.0197 0.5098

Company: Bradesco Leasing S.A. Arrendamento Mercantil							
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	() Audit Committee	٠,	echnical and sory Agencies		
		Openning Balance					
				% o	f participation		
Тур	Quantity		e type of nares				
		0	0.0000 0.0000				
Non-Voting Shares				0	0.0000 0.0000		
		Closing Balance		0/ •	f mauticination		
				% 0	f participation		
Тур	e of Securities/De	rivatives	Quantity		e type of pares		
	Common Share	es		0	0.0000 0.0000		
	Non-Voting Shar	res		0	0.0000 0.0000		

CONSOLIDATE FORM Negociation's from Administration and Families Dependants- Paragraph 11 - Instruction CVM n.º 358/2002

In February 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.						
Group and Family Dependants	()Board of Directors	(X) Board of Executive Officers		() Audit Committee		() Technical and Advisory Agencies
				% of participation		
						·
Type of Securities/Derivatives			Quanti	ity	Same type of Shares Total	
	Common Shar Non-Voting Sha				82,474 02,830	
	rton roung one	Month Mo	vement	0,=	02,000	011100 010070
T	Broker					
Type of Securities/Derivatives		Operation	Day	Quantity	Price	Value in R\$
Non-Voting Shares		Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares		Buy	10-Feb	143		. ,
Non-Voting Shares		Buy	10-Feb	403		' '
Non-Voting Shares		Buy	10-Feb	259		• •
Non-Voting Shares		Buy	10-Feb		32.00	
Non-Voting Shares		Buy	10-Feb		32.01	R\$ 14,020.38
Non-Voting Shares		Buy	10-Feb	727		' '
Non-Voting Shares		Buy	10-Feb	114	32.03	' '
Non-Voting Shares		Buy	10-Feb	40	32.04	• •
Non-Voting Shares		Buy	10-Feb	37	32.05	• •
Non-Voting Shares		Buy	10-Feb	32		' '
Non-Voting Shares		Buy	10-Feb	2	32.07	· ·
Non-Voting Shares		Buy	10-Feb	23	32.08	!
Non-Voting Shares		Buy	10-Feb	65	32.09 32.11	• •
Non-Voting Shares		Buy	10-Feb 10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares		Buy	10-Feb	28 54		!
Non-Voting Shares		Buy	10-Feb			R\$ 1,735.02
Non-Voting Shares		Buy	10-Feb 10-Feb		32.14	. ,
Non-Voting Shares Non-Voting Shares		Buy Buy	10-Feb 10-Feb		32.15	•

Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	46	32.30	R\$ 1,485.80
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
Non-Voting Shares	Buy	10-Feb	100	32.66	R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	•	10-Feb	259	31.90	R\$ 8,285.41
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	433	32.00	R\$ 13,920.00

Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	40	32.04	R\$ 1,281.60
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	5	32.17	R\$ 160.85
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	-	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy Buy	10-Feb	51	32.56	R\$ 1,660.56
<u> </u>	•				
Non-Voting Shares	Buy	10-Feb	31 100	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03

Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,645	32.64	R\$ 53,692.80
Non-Voting Shares	Buy	10-Feb	451	32.65	R\$ 14,725.15
Non-Voting Shares	Buy	10-Feb	99	32.66	R\$ 3,233.34
Non-Voting Shares	Buy	10-Feb	62	32.67	R\$ 2,025.54
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	9	32.69	R\$ 294.21
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy Buy	10-Feb	26	32.36	R\$ 841.36
<u> </u>	· · · · · · · · · · · · · · · · · · ·				
Non-Voting Shares	Buy	10-Feb	26 5	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45

Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	1,641	32.64	R\$ 53,562.24
Non-Voting Shares	Buy	10-Feb	449	32.65	R\$ 14,659.85
Non-Voting Shares	Buy	10-Feb	100	32.66	R\$ 3,266.00
Non-Voting Shares	Buy	10-Feb	63	32.67	R\$ 2,058.21
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	12	32.69	R\$ 392.28
Non-Voting Shares	Buy	10-Feb	359	31.96	R\$ 11,473.64
Non-Voting Shares	Buy	10-Feb	143	31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	403	31.98	R\$ 12,887.94
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	41	32.04	R\$ 1,313.64
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27		R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7		R\$ 225.19
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67		R\$ 2,158.74
Tabli- voling Shares	Биу	10-1 60	07	اک.کک	1 τφ 2, 130.74

Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 53,594.88
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 14,757.80
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 3,331.32
Non-Voting Shares	Buy	10-Feb	60	32.67	R\$ 1,960.20
Non-Voting Shares		10-Feb	3	32.68	R\$ 98.04
•	Buy	10-Feb	10	32.69	
Non-Voting Shares	Buy		360	31.96	R\$ 326.90
Non-Voting Shares	Buy	10-Feb			R\$ 11,505.60
Non-Voting Shares	Buy	10-Feb		31.97	R\$ 4,571.71
Non-Voting Shares	Buy	10-Feb	402	31.98	R\$ 12,855.96
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	729	32.02	R\$ 23,342.58
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	31	32.06	R\$ 993.86

	_		_		
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	•	10-Feb	95	32.21	R\$ 3,059.95
•	Buy			32.22	
Non-Voting Shares	Buy	10-Feb	67		R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
_	-				·
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	118	32.59	R\$ 3,845.62
Non-Voting Shares	Buy	10-Feb	254	32.60	R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	1,647	32.64	R\$ 53,758.08
Non-Voting Shares	Buy	10-Feb	450	32.65	R\$ 14,692.50
	•				

Non-Voting Shares	Buy	10-Feb	102	32.66	R\$ 3,331.32
Non-Voting Shares	Buy	10-Feb	60	32.67	R\$ 1,960.20
Non-Voting Shares	Buy	10-Feb	4	32.68	R\$ 130.72
Non-Voting Shares	Buy	10-Feb	7	32.69	R\$ 228.83
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	2	32.15	R\$ 64.30
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9		R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	-	10-Feb	47	32.30	R\$ 1,518.10
•	Buy Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares Non-Voting Shares	-	10-Feb	4	32.34	
<u> </u>	Buy				R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00

	_				54 64 5 66
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	133	31.98	R\$ 4,253.34
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.02	R\$ 3,619.39
•	•				
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb		32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
	,		•		φ . = 0.00

Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	-	10-Feb	26	32.50	R\$ 845.00
•	Buy	10-Feb			
Non-Voting Shares	Buy		26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	276	32.61	R\$ 9,000.36
Non-Voting Shares	Buy	10-Feb	392	32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	896	32.63	R\$ 29,236.48
Non-Voting Shares	Buy	10-Feb	839	32.64	R\$ 27,384.96
Non-Voting Shares	Buy	10-Feb	329	32.65	R\$ 10,741.85
Non-Voting Shares	Buy	10-Feb	42	32.66	R\$ 1,371.72
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	-	10-Feb		32.17	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb		32.10	R\$ 1,706.07
TWOIT-VOILING SHATES	Buy	IO-LAN	53	52.13	пφ 1,700.07

Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
	-	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy				•
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	836	32.64	R\$ 27,287.04
Non-Voting Shares	Buy	10-Feb	334	32.65	R\$ 10,905.10
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.90
INOTITY OF THE STATES	ьиу	וט-ו כט	30	JZ.UJ	1 τφ 1,217.90

Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares		10-Feb	25	32.48	R\$ 812.00
•	Buy			32.50	
Non-Voting Shares	Buy	10-Feb	26		R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	Buy	10-Feb	837	32.64	R\$ 27,319.68

	_				
Non-Voting Shares	Buy	10-Feb		32.65	R\$ 10,905.10
Non-Voting Shares	Buy	10-Feb		32.66	R\$ 1,437.04
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	260	31.99	R\$ 8,317.40
Non-Voting Shares	Buy	10-Feb	434	32.00	R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	2	32.15	R\$ 64.30
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	6	32.17	R\$ 193.02
	Buy		72	32.17	•
Non-Voting Shares	Buy	10-Feb			R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 551.99
•	•				•

Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	46	32.66	R\$ 1,502.36
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	1	32.68	R\$ 32.68
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	Buy	10-Feb	132	31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259	31.99	R\$ 8,285.41
Non-Voting Shares	Buy	10-Feb	435	32.00	R\$ 13,920.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	54	32.12	R\$ 1,735.02
Non-Voting Shares		10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	31	32.15	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	
•	Buy			32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71 52	32.19	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb			R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	/8	32.33	R\$ 2,521.74

Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	254		R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	837	32.64	R\$ 27,319.68
Non-Voting Shares	Buy	10-Feb	335	32.65	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	47	32.66	R\$ 1,535.02
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	1	32.68	R\$ 32.68
Non-Voting Shares	Buy	10-Feb	1	32.69	R\$ 32.69
Non-Voting Shares	_	10-Feb		31.98	R\$ 4,221.36
Non-Voting Shares	Buy	10-Feb	259		R\$ 8,285.41
	Buy	10-Feb		32.00	
Non-Voting Shares	Buy				R\$ 13,888.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727		R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96

Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb		32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	894	32.63	R\$ 29,171.22
Non-Voting Shares	•	10-Feb	835	32.64	R\$ 27,254.40
Non-Voting Shares	Buy		335	32.65	
<u> </u>	Buy	10-Feb		32.66	R\$ 10,937.75
Non-Voting Shares	Buy	10-Feb	45 7		R\$ 1,469.70
Non-Voting Shares	Buy	10-Feb		32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	2	32.68	R\$ 65.36
Non-Voting Shares	Buy	10-Feb	2	32.69	R\$ 65.38
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
Non-Voting Shares	Buy	10-Feb	439	32.01	R\$ 14,052.39
Non-Voting Shares	Buy	10-Feb	727	32.02	R\$ 23,278.54
Non-Voting Shares	Buy	10-Feb	116	32.03	R\$ 3,715.48
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92

Non-Voting Shares	Buy	10-Feb		32.66	R\$ 620.54
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	130	32.00	R\$ 4,160.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.52	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Tion voing onaics	ьuy	10-1 60	ı	<u>اک.ا+</u>	ι φ υ ∠ .υ 4

Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	389	32.62	R\$ 12,689.18
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	61	32.64	R\$ 1,991.04
Non-Voting Shares	Buy	10-Feb	250	32.65	R\$ 8,162.50
Non-Voting Shares	Buy	10-Feb	20	32.66	R\$ 653.20
Non-Voting Shares	Buy	10-Feb	6	32.67	R\$ 196.02
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
Non-Voting Shares	Buy	10-Feb	438	32.01	R\$ 14,020.38
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb	37	32.04	R\$ 1,185.48
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	-	10-Feb	48	32.27	R\$ 1,548.96
•	Buy	10-Feb	10	32.28	· · ·
Non-Voting Shares	Buy			32.29	R\$ 322.80 R\$ 129.16
Non-Voting Shares	Buy	10-Feb	4		R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	47 70	32.30 32.33	
Non-Voting Shares	Buy	10-Feb	78		R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03

Non-Voting Shares	Buy	10-Feb	47		R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	893	32.63	R\$ 29,138.59
Non-Voting Shares	Buy	10-Feb	60	32.64	R\$ 1,958.40
Non-Voting Shares	Buy	10-Feb			R\$ 8,227.80
Non-Voting Shares	Buy	10-Feb	17	32.66	R\$ 555.22
Non-Voting Shares	Buy	10-Feb	8	32.67	R\$ 261.36
Non-Voting Shares	Buy	10-Feb	128	32.00	R\$ 4,096.00
	•	10-Feb	438	32.00	R\$ 14,020.38
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	728	32.02	R\$ 23,310.56
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	3	32.26	R\$ 96.78
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	9	32.28	R\$ 290.52
•	Buy			32.28	
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10

Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	•	10-Feb	255	32.60	R\$ 8,313.00
	Buy			32.61	
Non-Voting Shares	Buy	10-Feb	279		R\$ 9,098.19
Non-Voting Shares	Buy	10-Feb	392		R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	891	32.63	R\$ 29,073.33
Non-Voting Shares	Buy	10-Feb	64	32.64	R\$ 2,088.96
Non-Voting Shares	Buy	10-Feb	242	32.65	R\$ 7,901.30
Non-Voting Shares	Buy	10-Feb	19	32.66	R\$ 620.54
Non-Voting Shares	Buy	10-Feb	7	32.67	R\$ 228.69
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	115	32.03	R\$ 3,683.45
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	65	32.09	R\$ 2,085.85
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb			R\$ 2,190.96
<u> </u>	•				

Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb		32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	13	32.66	R\$ 424.58
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
•	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	•			32.07	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	23	32.09	
Non-Voting Shares	Buy	10-Feb	66		R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44

Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31		R\$ 1,000.50
_	•	10-Feb	101	32.58	
Non-Voting Shares	Buy			32.59	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.60	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	357		R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	14	32.66	R\$ 457.24
Non-Voting Shares	Buy	10-Feb	711	32.02	R\$ 22,766.22
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94

Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb			R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	-	10-Feb	51	32.56	R\$ 1,660.56
<u> </u>	Buy	10-Feb	31	32.57	
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 1,009.67
Non-Voting Shares	Buy		101		R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	394	32.62	R\$ 12,852.28
Non-Voting Shares	Buy	10-Feb	357	32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	125	32.65	R\$ 4,081.25
Non-Voting Shares	Buy	10-Feb	13	32.66	R\$ 424.58
Non-Voting Shares	Buy	10-Feb	465	32.02	R\$ 14,889.30
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52

Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb	22	32.35	R\$ 711.70
	Buy	10-Feb		32.36	
Non-Voting Shares	Buy		26	32.37	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.38	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5 155		R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 12,787.04
Non-Voting Shares	Buy	10-Feb	85	32.63	R\$ 2,773.55

Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	103	32.65	R\$ 3,362.95
Non-Voting Shares	Buy	10-Feb	3	32.66	R\$ 97.98
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	•	10-Feb	97	32.24	R\$ 3,127.28
	Buy	10-Feb	23	32.25	
Non-Voting Shares	Buy				R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109		R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24

Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	201	32.62	R\$ 6,556.62
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	58	32.65	R\$ 1,893.70
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	67	32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	-	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy Buy	10-Feb	155	32.39	R\$ 5,020.45
<u> </u>	•		109	32.40	• •
Non-Voting Shares	Buy	10-Feb			R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52

	_				
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	181	32.61	R\$ 5,902.41
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	•	10-Feb	47	32.30	R\$ 1,518.10
•	Buy	10-Feb	78	32.33	
Non-Voting Shares	Buy				R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34 32.35	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22		R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15

Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	50	32.65	R\$ 1,632.50
Non-Voting Shares	Buy	10-Feb	1	32.66	R\$ 32.66
Non-Voting Shares	Buy	10-Feb	1	32.02	R\$ 32.02
Non-Voting Shares	Buy	10-Feb	1	32.08	R\$ 32.08
Non-Voting Shares	Buy	10-Feb	21	32.09	R\$ 673.89
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	•	10-Feb	4	32.29	R\$ 129.16
•	Buy	10-Feb	47	32.30	•
Non-Voting Shares	Buy				R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6 150	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59

Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	186	32.60	R\$ 6,063.60
Non-Voting Shares	Buy	10-Feb	54	32.03	R\$ 1,729.62
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	24	32.08	R\$ 769.92
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	-	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy Buy	10-Feb	80	32.40	R\$ 2,592.80
•	•		46	32.42	
Non-Voting Shares Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
_	Buy	10-Feb			R\$ 454.02
Non-Voting Shares	Buy	10-Feb	2/	32.45	R\$ 876.15

Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	180	32.61	R\$ 5,869.80
Non-Voting Shares	Buy	10-Feb	9	32.62	R\$ 293.58
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	202	32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
•	•			32.35	
Non-Voting Shares	Buy	10-Feb	22 26		R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67

Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares		10-Feb	31	32.57	R\$ 1,009.67
	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	272	32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	59	32.65	R\$ 1,926.35
Non-Voting Shares	Buy	10-Feb	710	32.02	R\$ 22,734.20
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	97	32.24	R\$ 3,127.28
<u> </u>	Buy		24	32.25	
Non-Voting Shares Non-Voting Shares	Buy	10-Feb 10-Feb	2 4 4	32.25	R\$ 774.00 R\$ 129.04
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74

	_				
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
•	•				
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb	357	32.63	R\$ 11,648.91
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	124	32.65	R\$ 4,048.60
Non-Voting Shares	Buy	10-Feb	14	32.66	R\$ 457.24
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60		R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30		R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	-	10-Feb		32.21	
<u> </u>	Buy				R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69 17	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30

	_				
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	•	10-Feb	45	32.42	R\$ 1,458.90
•	Buy				
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	182	32.61	R\$ 5,935.02
Non-Voting Shares	Buy	10-Feb	11	32.62	R\$ 358.82
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	10	32.65	R\$ 326.50
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 18,827.76
Non-Voting Shares	•	10-Feb		32.02	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.03	
S .	Buy				R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
	*				

Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares		10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
•	Buy	10-Feb	32	32.57	
Non-Voting Shares	Buy				R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58 32.59	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 8,280.40
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 7,178.60
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	115	32.65	R\$ 3,754.75
Non-Voting Shares	Buy	10-Feb	9	32.66	R\$ 293.94
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15

Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 129.16
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	47	32.30	R\$ 1,518.10
•	Buy	10-Feb	78	32.33	
Non-Voting Shares	Buy				R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	200	32.62	R\$ 6,524.00
Non-Voting Shares	Buy	10-Feb	6	32.63	R\$ 195.78
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	57	32.65	R\$ 1,861.05
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
	20,		_5	550	φ / σ / .σ /

Non-Voting Shares	Buy	10-Feb	67	32.09	R\$ 2,150.03
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	•		9	32.28	R\$ 290.52
9	Buy	10-Feb		32.29	
Non-Voting Shares	Buy	10-Feb	5		R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47 77	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257		R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	180	32.61	R\$ 5,869.80
Non-Voting Shares	Buy	10-Feb	9	32.62	R\$ 293.58
Non-Voting Shares	Buy	10-Feb	5	32.63	R\$ 163.15
Non-Voting Shares	Buy	10-Feb	11	32.65	R\$ 359.15
Non-Voting Shares	Buy	10-Feb	515	32.02	R\$ 16,490.30
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
14011 Volling Offares	Duy	10-1 60	114	JZ.UJ	1 (ψ 0,001.42

Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	58	32.14	R\$ 1,864.12
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	•	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
	Buy	10-Feb		32.40	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy				R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66

Non-Voting Shares	Buy	10-Feb	137		R\$ 4,470.31
Non-Voting Shares	Buy	10-Feb	3	32.64	R\$ 97.92
Non-Voting Shares	Buy	10-Feb	112	32.65	R\$ 3,656.80
Non-Voting Shares	Buy	10-Feb	6	32.66	R\$ 195.96
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	76	32.18	R\$ 2,445.68
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	•	10-Feb	26	32.48	R\$ 844.48
•	Buy			32.50	
Non-Voting Shares	Buy	10-Feb	25	32.52	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb 10-Feb	26 53		R\$ 845.78
Non-Voting Shares	Buy		52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	143	32.60	R\$ 4,661.80
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	56	32.13	R\$ 1,799.28
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26

Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
	•	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb		32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
<u> </u>	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares Non-Voting Shares	•	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.09	R\$ 1,573.39
<u> </u>	Buy	10-Feb		32.11	
Non-Voting Shares	Buy				R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76

Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
<u> </u>	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares			1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.57	R\$ 1,660.56
Non-Voting Shares	Buy		100	32.58	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb			R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	50	32.65	R\$ 1,632.50
Non-Voting Shares	Buy	10-Feb	1	32.66	R\$ 32.66
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 772.32
Non-Voting Shares	Buy	10-Feb	14	32.19	R\$ 450.66
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 3,026.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96

Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	-	10-Feb	71	32.58	R\$ 2,313.18
•	Buy	10-Feb	202	32.02	
Non-Voting Shares	Buy			32.02	R\$ 6,468.04
Non-Voting Shares	Buy	10-Feb	39	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb			R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91

Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,869.92
Non-Voting Shares	Buy	10-Feb	202		R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	59	32.65	R\$ 1,926.35
Non-Voting Shares	Buy	10-Feb	201	32.02	R\$ 6,436.02
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.12	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.13	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.14	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares		10-Feb		32.10	R\$ 257.36
TYOH- VOLING SHALES	Buy	IO-LED	0	JZ. I /	1 φ 237.30

Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb	54	32.19	R\$ 1,738.26
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	-	10-Feb	26	32.53	R\$ 845.78
<u> </u>	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares Non-Voting Shares	Buy		51	32.56	
Non-Voting Shares	Buy	10-Feb 10-Feb		32.57	R\$ 1,660.56
<u> </u>	Buy				R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	277	32.61	R\$ 9,032.97
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	51	32.65	R\$ 1,665.15
Non-Voting Shares	Buy	10-Feb	589	32.02	R\$ 18,859.78
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24

Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	•	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
•	Buy	10-Feb	107	32.40	
Non-Voting Shares	Buy		83	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb			R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	17	32.47	R\$ 551.99
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	275	32.61	R\$ 8,967.75
Non-Voting Shares	Buy	10-Feb	390	32.62	R\$ 12,721.80
Non-Voting Shares	Buy	10-Feb	222	32.63	R\$ 7,243.86
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 65.28
Non-Voting Shares	Buy	10-Feb	116	32.65	R\$ 3,787.40
Non-Voting Shares	Buy	10-Feb	8	32.66	R\$ 261.28
Non-Voting Shares	Buy	10-Feb	465	32.02	R\$ 14,889.30
Non-Voting Shares	Buy	10-Feb	112	32.03	R\$ 3,587.36
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90

Non-Voting Shares Buy 10-Feb 23 32.06 R\$ 1,025,92 R\$ 64.14 Non-Voting Shares Buy 10-Feb 23 32.07 R\$ 64.14 Non-Voting Shares Buy 10-Feb 23 32.08 R\$ 737,84 Non-Voting Shares Buy 10-Feb 49 32.11 R\$ 1,573.39 Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 8,993.66 Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 8,993.66 Non-Voting Shares Buy 10-Feb 60 32.14 R\$ 1,928.40 Non-Voting Shares Buy 10-Feb 60 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 61 32.21 R\$ 2,284.78 Non-Voting Shares Buy 10-Feb 63 32.17 R\$ 2,284.78 Non-Voting Shares Buy 10-Feb 63 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 69 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 69 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 69 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 69 32.22 R\$ 1,190.96 Non-Voting Shares Buy 10-Feb 69 32.23 R\$ 1,564.96 Non-Voting Shares Buy 10-Feb 69 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 60 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 60 32.36 R\$ 1,564.96 Non-Voting Shares Buy 10-Feb 61 32.37 R\$ 1,564.9						
Non-Voting Shares Buy 10-Feb 49 32.11 RS 1,573.39 Non-Voting Shares Buy 10-Feb 49 32.11 RS 1,573.39 Non-Voting Shares Buy 10-Feb 52 32.12 RS 893.36 Non-Voting Shares Buy 10-Feb 52 32.13 RS 1,670.76 Non-Voting Shares Buy 10-Feb 60 32.14 RS 1,928.40 Non-Voting Shares Buy 10-Feb 60 32.15 RS 225.00 Non-Voting Shares Buy 10-Feb 60 32.16 RS 932.64 Non-Voting Shares Buy 10-Feb 60 32.16 RS 932.64 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.05 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.00 Non-Voting Shares Buy 10-Feb 60 32.17 RS 225.00 Non-Voting Shares Buy 10-Feb 61 32.17 RS 257.38 Non-Voting Shares Buy 10-Feb 63 32.17 RS 257.36 Non-Voting Shares Buy 10-Feb 63 32.21 RS 3,059.95 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.21 RS 1,706.07 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,809.95 Non-Voting Shares Buy 10-Feb 63 32.22 RS 1,806.07 Non-Voting Shares Buy 10-Feb 63 32.23 RS 1,516.68 Non-Voting Shares Buy 10-Feb 63 32.24 RS 1,815.68 Non-Voting Shares Buy 10-Feb 63 32.25 RS 1,151.00 Non-Voting Shares Buy 10-Feb 63 32.26 RS 161.30 Non-Voting Shares Buy 10-Feb 63 32.27 RS 1,549.96 Non-Voting Shares Buy 10-Feb 63 32.28 RS 1,806.07 Non-Voting Shares Buy 10-Feb 63 32.29 RS 1,291.07 Non-Voting Shares Buy 10-Feb 63 63 63 RS 4,128.00 RS 1,540.00 RS 1,5	Non-Voting Shares	Buy	10-Feb			R\$ 1,025.92
Non-Voting Shares Non-Voting Shares Buy 10-Feb 49 32.11 R\$ 1,573.39		•				
Non-Voting Shares Buy 10-Feb 28 32.12 R\$ 899.36 Non-Voting Shares Buy 10-Feb 52 32.13 R\$ 1,670.76 Non-Voting Shares Buy 10-Feb 60 32.14 R\$ 1,928.40 Non-Voting Shares Buy 10-Feb 73 32.15 R\$ 225.05 Non-Voting Shares Buy 10-Feb 73 32.15 R\$ 225.05 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 225.36 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 73 32.17 R\$ 257.36 Non-Voting Shares Buy 10-Feb 73 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 133 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 2,282.78 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 2,282.78 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 3,209.95 Non-Voting Shares Buy 10-Feb 163 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 163 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 163 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 164 32.23 R\$ 515.68 Non-Voting Shares Buy 10-Feb 23 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 29.52 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 R\$ 4,82.60 R\$	Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares Buy 10-Feb 52 32.12 R\$ 899.36	Non-Voting Shares	Buy		66		R\$ 2,117.94
Non-Voting Shares Buy 10-Feb 52 32.13 R\$ 1,670.76	Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares Buy 10-Feb 60 32.14 R\$ 1,928.40	Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares Buy 10-Feb 29 32.16 R\$ 932.64	Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares Buy 10-Feb 29 32.16 R\$ 932.64	Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares Buy 10-Feb 53 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 53 32.19 R\$ 1,706.07 Non-Voting Shares Buy 10-Feb 53 32.11 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,29.36 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 53 32.34 R\$ 1,29.36 Non-Voting Shares Buy 10-Feb 53 32.35 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.36 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 53 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 5,002.45 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 5,002.45 Non-Voting Shares Buy 10-Feb 53 53.39 R\$ 421.53 Non-Voting Shares Buy 10-Feb 53 53.46 R\$ 421.59 Non-Voting Shares Buy 10-Feb 53 53.25 R\$ 843.70 Non-Voting Shares Buy	Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares Buy 10-Feb 53 32.19 R\$ 1,706.07	Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 51.68 Non-Voting Shares Buy 10-Feb 10-F	Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares Buy 10-Feb 133 32.20 R\$ 4,282.60 Non-Voting Shares Buy 10-Feb 95 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 5,150.96 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 5,150.68 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 97 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 5 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 5 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.31 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.31 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.31 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 58 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 33 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 33 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 33 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 35 32.98 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 36 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.00 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.00 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares		Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares Buy 10-Feb 68 32.21 R\$ 3,059.95 Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 515.68 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 43 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 1,251.60 Non-Voting Shares Buy 10-Feb 43 32.34 R\$ 129.36 <td></td> <td>•</td> <td>10-Feb</td> <td>133</td> <td>32.20</td> <td></td>		•	10-Feb	133	32.20	
Non-Voting Shares Buy 10-Feb 68 32.22 R\$ 2,190.96 Non-Voting Shares Buy 10-Feb 16 32.23 R\$ 515.68 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1548.96 Non-Voting Shares Buy 10-Feb 43 32.29 R\$ 129.50 Non-Voting Shares Buy 10-Feb 43 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 43 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 43 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 71.70 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares Buy 10-Feb 96 32.23 R\$ 515.68 Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 5 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 9 32.28 R\$ 290.52 Non-Voting Shares Buy 10-Feb 4 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 42 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36	<u> </u>					
Non-Voting Shares Buy 10-Feb 97 32.24 R\$ 3,127.28 Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 48 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 42 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.36	•					
Non-Voting Shares Buy 10-Feb 23 32.25 R\$ 741.75		•				
Non-Voting Shares Buy 10-Feb 5 32.26 R\$ 161.30 Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 9 32.28 R\$ 290.52 Non-Voting Shares Buy 10-Feb 4 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 78 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 4 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 155 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45		•				
Non-Voting Shares Buy 10-Feb 48 32.27 R\$ 1,548.96 Non-Voting Shares Buy 10-Feb 9 32.28 R\$ 290.52 Non-Voting Shares Buy 10-Feb 4 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 78 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 15 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 2,690.03		•				
Non-Voting Shares Buy 10-Feb 9 32.28 R\$ 290.52 Non-Voting Shares Buy 10-Feb 4 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.62 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 157 32.39 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.40 R\$ 2,690.03	•	•				· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares Buy 10-Feb 4 32.29 R\$ 129.16 Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 78 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 <	<u> </u>					
Non-Voting Shares Buy 10-Feb 48 32.30 R\$ 1,550.40 Non-Voting Shares Buy 10-Feb 78 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,52.79						
Non-Voting Shares Buy 10-Feb 78 32.33 R\$ 2,521.74 Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 17 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,520.04 Non-Voting Shares Buy 10-Feb 43 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 13 32.42 R\$ 1,520.00		•				
Non-Voting Shares Buy 10-Feb 4 32.34 R\$ 129.36 Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 43 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 43 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 32 32.45 R\$ 842.59		•				
Non-Voting Shares Buy 10-Feb 22 32.35 R\$ 711.70 Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 187 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 32 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 32 32.45 R\$ 843.70	•	•				
Non-Voting Shares Buy 10-Feb 26 32.36 R\$ 841.36 Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 26 32.47 R\$ 487.05	<u> </u>	-				
Non-Voting Shares Buy 10-Feb 26 32.37 R\$ 841.62 Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 421.59 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 421.59 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 81.20.0		•				
Non-Voting Shares Buy 10-Feb 5 32.38 R\$ 161.90 Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares Buy 10-Feb 155 32.39 R\$ 5,020.45 Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.78 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 32 32.54 R\$ 1,660.56		•				
Non-Voting Shares Buy 10-Feb 107 32.40 R\$ 3,466.80 Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 3.254 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,660.56 <tr< td=""><td>•</td><td>•</td><td></td><td></td><td></td><td></td></tr<>	•	•				
Non-Voting Shares Buy 10-Feb 83 32.41 R\$ 2,690.03 Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 10 32.58 R\$ 3,258.00		•				
Non-Voting Shares Buy 10-Feb 47 32.42 R\$ 1,523.74 Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 <tr< td=""><td></td><td>•</td><td></td><td></td><td></td><td></td></tr<>		•				
Non-Voting Shares Buy 10-Feb 13 32.43 R\$ 421.59 Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.00 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 <t< td=""><td><u> </u></td><td></td><td></td><td></td><td></td><td></td></t<>	<u> </u>					
Non-Voting Shares Buy 10-Feb 26 32.45 R\$ 843.70 Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 9,098.19						
Non-Voting Shares Buy 10-Feb 37 32.46 R\$ 1,201.02 Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 10 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90	•	•				
Non-Voting Shares Buy 10-Feb 15 32.47 R\$ 487.05 Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 395 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 <td>•</td> <td>-</td> <td></td> <td></td> <td></td> <td></td>	•	-				
Non-Voting Shares Buy 10-Feb 25 32.48 R\$ 812.00 Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.62 R\$ 12,884.90 <		•				
Non-Voting Shares Buy 10-Feb 26 32.50 R\$ 845.00 Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29		•				
Non-Voting Shares Buy 10-Feb 26 32.53 R\$ 845.78 Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	•	-				
Non-Voting Shares Buy 10-Feb 1 32.54 R\$ 32.54 Non-Voting Shares Buy 10-Feb 51 32.56 R\$ 1,660.56 Non-Voting Shares Buy 10-Feb 32 32.57 R\$ 1,042.24 Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	•	-				· · · · · · · · · · · · · · · · · · ·
Non-Voting SharesBuy10-Feb5132.56R\$ 1,660.56Non-Voting SharesBuy10-Feb3232.57R\$ 1,042.24Non-Voting SharesBuy10-Feb10032.58R\$ 3,258.00Non-Voting SharesBuy10-Feb11732.59R\$ 3,813.03Non-Voting SharesBuy10-Feb25632.60R\$ 8,345.60Non-Voting SharesBuy10-Feb27932.61R\$ 9,098.19Non-Voting SharesBuy10-Feb39532.62R\$ 12,884.90Non-Voting SharesBuy10-Feb8332.63R\$ 2,708.29	•	•				
Non-Voting SharesBuy10-Feb3232.57R\$ 1,042.24Non-Voting SharesBuy10-Feb10032.58R\$ 3,258.00Non-Voting SharesBuy10-Feb11732.59R\$ 3,813.03Non-Voting SharesBuy10-Feb25632.60R\$ 8,345.60Non-Voting SharesBuy10-Feb27932.61R\$ 9,098.19Non-Voting SharesBuy10-Feb39532.62R\$ 12,884.90Non-Voting SharesBuy10-Feb8332.63R\$ 2,708.29	•	•				
Non-Voting Shares Buy 10-Feb 100 32.58 R\$ 3,258.00 Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29		•				
Non-Voting Shares Buy 10-Feb 117 32.59 R\$ 3,813.03 Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	•	•				
Non-Voting Shares Buy 10-Feb 256 32.60 R\$ 8,345.60 Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	•	Buy				
Non-Voting Shares Buy 10-Feb 279 32.61 R\$ 9,098.19 Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	•	•				
Non-Voting Shares Buy 10-Feb 395 32.62 R\$ 12,884.90 Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29		Buy				
Non-Voting Shares Buy 10-Feb 83 32.63 R\$ 2,708.29	Non-Voting Shares	Buy	10-Feb	279	32.61	R\$ 9,098.19
·	Non-Voting Shares	Buy	10-Feb	395	32.62	R\$ 12,884.90
Non-Voting Shares Buy 10-Feb 1 32.64 R\$ 32.64	Non-Voting Shares	Buy	10-Feb	83	32.63	R\$ 2,708.29
	Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64

Non-Voting Shares	Buy	10-Feb	100	32.65	R\$ 3,265.00
Non-Voting Shares	Buy	10-Feb	3	32.66	R\$ 97.98
Non-Voting Shares	Buy	10-Feb	466	32.02	R\$ 14,921.32
Non-Voting Shares	Buy	10-Feb	113	32.03	R\$ 3,619.39
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	7	32.15	R\$ 225.05
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb		32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	84		R\$ 2,722.44
Non-Voting Shares	•	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 454.02
	Buy	10-Feb		32.45	R\$ 778.80
Non-Voting Shares	Buy		37		
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	_	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00

Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	279	32.61	R\$ 9,098.19
Non-Voting Shares	Buy	10-Feb	395	32.62	R\$ 12,884.90
Non-Voting Shares	Buy	10-Feb	84	32.63	R\$ 2,740.92
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	100	32.65	R\$ 3,265.00
Non-Voting Shares	Buy	10-Feb	4	32.66	R\$ 130.64
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	•	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	
•	Buy	10-Feb		32.35	R\$ 129.36
Non-Voting Shares Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 711.70 R\$ 873.72
•	Buy				
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6 154	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb		32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44

Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	•	10-Feb	30	32.16	R\$ 964.80
	Buy		7		
Non-Voting Shares	Buy	10-Feb		32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
•	•	10-Feb	80	32.41	
Non-Voting Shares	Buy				R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60

Non-Voting Shares	Buy	10-Feb	120	32.61	R\$ 3,913.20
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	710	32.02	R\$ 22,734.20
Non-Voting Shares	Buy	10-Feb	116	32.03	R\$ 3,715.48
Non-Voting Shares	Buy	10-Feb	37	32.04	R\$ 1,185.48
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb			R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	93	32.21	R\$ 2,995.53
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	96	32.24	R\$ 3,095.04
•	Buy	10-Feb	24	32.25	
Non-Voting Shares	Buy			32.26	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4		R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107		R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
•	•				

Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	101	32.58	R\$ 3,290.58
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 8,739.48
Non-Voting Shares	Buy	10-Feb	391	32.62	R\$ 12,754.42
Non-Voting Shares	Buy	10-Feb	358	32.63	R\$ 11,681.54
Non-Voting Shares	Buy	10-Feb	133	32.65	R\$ 4,342.45
Non-Voting Shares	Buy	10-Feb	12	32.66	R\$ 391.92
Non-Voting Shares	Buy	10-Feb	56	32.03	R\$ 1,793.68
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	62	32.14	R\$ 1,992.68
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb		32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
TYON YOUNG ONAIGS	ьиу	10-1 60	23	U∠. + U	ι φ σ ι Ζ.υυ

	_				
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	184	32.61	R\$ 6,000.24
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	12	32.65	R\$ 391.80
Non-Voting Shares	Buy	10-Feb	1	32.03	R\$ 32.03
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares		10-Feb	54	32.12	R\$ 1,735.02
•	Buy			32.13	
Non-Voting Shares	Buy	10-Feb	59		R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb		32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb		32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
voling onaroo	Day	10 1 00	•	JL.UL	1 (φ 02.02

Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	28	32.03	R\$ 896.84
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,992.68
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77		R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	•	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy Buy	10-Feb	109	32.40	R\$ 3,531.60
•	•		80	32.41	
Non-Voting Shares	Buy	10-Feb			R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14 27	32.43 32.45	R\$ 454.02
Non-Voting Shares	Buy	10-Feb			R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25

Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	157	32.61	R\$ 5,119.77
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	4	32.65	R\$ 130.60
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	63	32.14	R\$ 2,024.82
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
		10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy		7		
Non-Voting Shares	Buy	10-Feb		32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48		R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 454.58
TAOLI VOLLING OLIGIES	ьиу	10-1 60	14	JZ.+/	ι φ 404.00

Non Voting Charge					
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	183	32.61	R\$ 5,967.63
Non-Voting Shares	Buy	10-Feb	12	32.62	R\$ 391.44
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	•	10-Feb	9	32.65	R\$ 293.85
<u> </u>	Buy	10-Feb	2	32.03	
Non-Voting Shares	Buy				R\$ 64.04
Non-Voting Shares	Buy	10-Feb	54	32.03	R\$ 1,729.62
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb		32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	-	10-Feb	5	32.29	R\$ 161.45
<u> </u>	Buy				
Non-Voting Shares	Buy	10-Feb	47 77	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80

Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	187	32.61	R\$ 6,098.07
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	10	32.65	R\$ 326.50
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	53	32.13	R\$ 1,702.89
Non-Voting Shares	Buy	10-Feb	63	32.14	R\$ 2,024.82
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
.ton tomig ondies	Бау	10 1 00	20	557	1 φ 0 + 1.02

Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	183	32.61	R\$ 5,967.63
Non-Voting Shares	Buy	10-Feb	12	32.62	R\$ 391.44
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	9	32.65	R\$ 293.85
Non-Voting Shares	Buy	10-Feb	464	32.02	R\$ 14,857.28
Non-Voting Shares	Buy	10-Feb	114	32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	39	32.04	R\$ 1,249.56
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb		32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	73	32.18	R\$ 2,349.14
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	134		R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	-	10-Feb	24		R\$ 774.00
_	Buy				
Non-Voting Shares	Buy	10-Feb 10-Feb	5 48	32.26 32.27	R\$ 161.30
Non-Voting Shares	Buy				R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	4/	32.30	R\$ 1,518.10

Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	24	32.45	R\$ 778.80
Non-Voting Shares	Buy	10-Feb	40	32.46	R\$ 1,298.40
Non-Voting Shares	Buy	10-Feb	13	32.47	R\$ 422.11
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	•	10-Feb	270	32.61	R\$ 8,804.70
Non-Voting Shares	Buy	10-Feb	393	32.62	R\$ 12,819.66
•	Buy	10-Feb	81	32.63	
Non-Voting Shares	Buy	10-Feb	2	32.64	R\$ 2,643.03
Non-Voting Shares	Buy				R\$ 65.28
Non-Voting Shares	Buy	10-Feb	111	32.65	R\$ 3,624.15
Non-Voting Shares	Buy	10-Feb	4	32.66	R\$ 130.64
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

					_
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	•	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
•	Buy	10-Feb	5	32.61	
Non-Voting Shares	Buy				R\$ 163.05
Non-Voting Shares	Buy	10-Feb	55	32.03	R\$ 1,761.65
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	48	32.11	R\$ 1,541.28
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

	_		_		
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	•	10-Feb	15	32.47	R\$ 487.05
•	Buy		25	32.48	
Non-Voting Shares	Buy	10-Feb			R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	185	32.61	R\$ 6,032.85
Non-Voting Shares	Buy	10-Feb	11	32.62	R\$ 358.82
Non-Voting Shares	Buy	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	7	32.65	R\$ 228.55
Non-Voting Shares	Buy	10-Feb	204	32.02	R\$ 6,532.08
Non-Voting Shares	Buy	10-Feb		32.03	R\$ 3,651.42
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	28	32.16	R\$ 900.48
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	53	32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb		32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb		32.22	R\$ 2,223.18
	26,				

Non-Voting Shares	Buy	10-Feb	15	32.23	R\$ 483.45
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	47	32.27	R\$ 1,516.69
Non-Voting Shares	Buy	10-Feb	10	32.28	R\$ 322.80
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	153	32.39	R\$ 4,955.67
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	271	32.61	R\$ 8,837.31
Non-Voting Shares	Buy	10-Feb	202	32.62	R\$ 6,589.24
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	1	32.64	R\$ 32.64
Non-Voting Shares	Buy	10-Feb	57	32.65	R\$ 1,861.05
Non-Voting Shares	Buy	10-Feb	56	32.03	R\$ 1,793.68
Non-Voting Shares	Buy	10-Feb	38	32.04	R\$ 1,217.52
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	58	32.14	R\$ 1,864.12
Non-Voting Shares	Buy	10-Feb	8	32.15	R\$ 257.20
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Tion voing onales	Buy	10 1 60	<i>i</i> 1	52.10	ι φ 2,207.70

Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb		32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 6,130.68
Non-Voting Shares	Buy	10-Feb	15	32.62	R\$ 489.30
Non-Voting Shares	•	10-Feb	2	32.63	R\$ 65.26
Non-Voting Shares	Buy	10-Feb	2	32.65	R\$ 65.30
Non-Voting Shares	Buy Buy	10-Feb	56	32.14	R\$ 1,799.84
<u> </u>	•			32.14	
Non-Voting Shares	Buy	10-Feb			R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7 75	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75 50	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04

					_
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	•	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
_	Buy	10-Feb	100	32.58	
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,258.00 R\$ 3,813.03
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.13	R\$ 32.13
Non-Voting Shares	Buy	10-Feb	1	32.16	R\$ 32.16
Non-Voting Shares	Buy	10-Feb	2	32.17	R\$ 64.34
Non-Voting Shares	Buy	10-Feb	29	32.18	R\$ 933.22
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 804.75
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb		32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90

Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	26	32.45	R\$ 843.70
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
-	•	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	13	32.59	R\$ 423.67
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares		10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy			32.26	R\$ 129.04
<u> </u>	Buy	10-Feb	4		•
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb		32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59

Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	5	32.61	R\$ 163.05
Non-Voting Shares	Buy	10-Feb	1	32.13	R\$ 32.13
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	29	32.16	R\$ 932.64
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	-	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
<u> </u>	Buy Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares			27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb		32.37	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	10-Feb 10-Feb	26	32.38	R\$ 841.62
Non-Voting Shares	Buy		5 155	32.39	R\$ 161.90 R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	155		
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb		32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67

	_				
Non-Voting Shares	Buy	10-Feb		32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb		32.39	R\$ 5,117.62
Non-Voting Shares	Buy	10-Feb		32.40	R\$ 3,402.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	48	32.42	R\$ 1,556.16
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	-	10-Feb	35	32.46	R\$ 1,136.10
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
<u> </u>	Buy	10-Feb	25	32.48	
Non-Voting Shares	Buy	10-Feb			R\$ 812.00
Non-Voting Shares	Buy		26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117		R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	10-Feb	7	32.61	R\$ 228.27
Non-Voting Shares	Buy	10-Feb	1	32.16	R\$ 32.16
Non-Voting Shares	Buy	10-Feb	2	32.17	R\$ 64.34
Non-Voting Shares	Buy	10-Feb	25	32.18	R\$ 804.50
Non-Voting Shares	Buy	10-Feb	25	32.19	R\$ 804.75
Non-Voting Shares	Buy	10-Feb	136	32.20	R\$ 4,379.20
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	70	32.22	R\$ 2,255.40
Non-Voting Shares	Buy	10-Feb	16	32.23	R\$ 515.68
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	5	32.38	R\$ 161.90
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	12		R\$ 391.08
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	-	10-Feb	27	32.11	R\$ 867.24
Non-Voting Shares	Buy			32.12	
	Buy	10-Feb			R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	4 20	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	8	32.17	R\$ 257.36
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31

	_				
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	49	32.30	R\$ 1,582.70
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	158	32.39	R\$ 5,117.62
Non-Voting Shares	Buy	10-Feb	104	32.40	R\$ 3,369.60
<u> </u>	•	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy		47		
Non-Voting Shares	Buy	10-Feb		32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	4	32.61	R\$ 130.44
Non-Voting Shares	Buy	10-Feb	1	32.62	R\$ 32.62
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	28	32.12	R\$ 899.36
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.17	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	49	32.10	R\$ 1,577.31
Non-Voting Shares	•	10-Feb		32.19	
_	Buy				R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	98	32.21	R\$ 3,156.58

Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares		10-Feb	47	32.42	R\$ 1,523.74
•	Buy				• •
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	16	32.47	R\$ 519.52
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	255	32.60	R\$ 8,313.00
Non-Voting Shares	Buy	10-Feb	6	32.61	R\$ 195.66
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb		32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb		32.30	R\$ 1,550.40
Ton Toning Ondioo	Day	10 1 00	.0	32.00	1 (φ 1,000.40

	_				D# 0 -01 -1
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
			52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb			
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	1	32.06	R\$ 32.06
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	29	32.12	R\$ 931.48
Non-Voting Shares	Buy	10-Feb	52	32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	31	32.16	R\$ 996.96
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	132	32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	97	32.21	R\$ 3,124.37
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb		32.36	R\$ 873.72
. ton voining charoo	Day	10 1 00	_,	32.00	. ιψ 07 0.7 Δ

Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb		32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	5	32.61	R\$ 163.05
Non-Voting Shares	Buy	10-Feb	56	32.14	R\$ 1,799.84
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	76	32.18	R\$ 2,445.68
Non-Voting Shares	Buy	10-Feb	48	32.19	R\$ 1,545.12
Non-Voting Shares	Buy	10-Feb	134	32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb		32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	108	32.40	R\$ 3,499.20
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
<u> </u>	•				
Non-Voting Shares	Buy	10-Feb	47 13	32.42 32.43	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb			R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb		32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05

Non-Voting Shares	Buy	10-Feb	26	32.48	R\$ 844.48
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	32	32.60	R\$ 1,043.20
Non-Voting Shares	Buy	10-Feb	33	32.11	R\$ 1,059.63
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	-	10-Feb	131	32.19	
•	Buy	10-Feb		32.21	R\$ 4,218.20
Non-Voting Shares	Buy		96 67		R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb		32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
<u> </u>	•	10-Feb	100	32.58	
Non-Voting Shares	Buy				R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03

Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	1	32.04	R\$ 32.04
Non-Voting Shares	Buy	10-Feb	31	32.11	R\$ 995.41
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	32	32.16	R\$ 1,029.12
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	•	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
•	Buy		25	32.37	· · · · · · · · · · · · · · · · · · ·
Non-Voting Shares	Buy	10-Feb			R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb		32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb	34	32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
	-				

Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	Buy	10-Feb	94	32.21	R\$ 3,027.74
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	•	10-Feb	96	32.24	R\$ 3,095.04
	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb		32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
<u> </u>	•		-		
Non-Voting Shares	Buy	10-Feb	4	32.63 32.11	R\$ 130.52
Non-Voting Shares	Buy	10-Feb	33		R\$ 1,059.63
Non-Voting Shares	Buy	10-Feb	27 54	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40

Non-Voting Shares	Buy	10-Feb	4	32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	72	32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb		32.53	R\$ 845.78
Non-Voting Shares	•	10-Feb		32.56	R\$ 1,693.12
Non-Voting Shares	Buy Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	•	10-Feb	144	32.02	
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 32.02
<u> </u>	Buy		27	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb 10-Feb			R\$ 867.24
Non-Voting Shares	Buy		54	32.13	R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb		32.15	R\$ 128.60
Non-Voting Shares	Buy	10-Feb	_	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb		32.18	R\$ 2,316.96
Non-Voting Shares	Buy	10-Feb	50	32.19	R\$ 1,609.50
Non-Voting Shares	Buy	10-Feb	131	32.20	R\$ 4,218.20
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16

Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96
Non-Voting Shares	Buy	10-Feb	18	32.23	R\$ 580.14
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	110	32.40	R\$ 3,564.00
Non-Voting Shares	Buy	10-Feb	81	32.41	R\$ 2,625.21
Non-Voting Shares	Buy	10-Feb	45	32.42	R\$ 1,458.90
Non-Voting Shares	Buy	10-Feb	15	32.43	R\$ 486.45
Non-Voting Shares	Buy	10-Feb	25	32.45	R\$ 811.25
Non-Voting Shares	Buy	10-Feb	39	32.46	R\$ 1,265.94
=		10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy				
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb		32.60	R\$ 4,694.40
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	33	32.06	R\$ 1,057.98
Non-Voting Shares	Buy	10-Feb	1	32.07	R\$ 32.07
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	60	32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	75	32.18	R\$ 2,413.50
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb	133	32.20	R\$ 4,282.60
Non-Voting Shares	· · · · · · · · · · · · · · · · · · ·	10-Feb	94	32.21	R\$ 3,027.74
•	Buy	10-Feb		32.22	
Non-Voting Shares	Buy		69		R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	١8	32.23	R\$ 580.14

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb		32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb		32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb		32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy Buy	10-Feb	135	32.19	R\$ 4,347.00
	_	10-Feb		32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-FED	90	JZ.Z1	ng 3,058.85

Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb		32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb		32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb		32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	•	10-Feb		32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	
<u> </u>	Buy				R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27 55	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55 50	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00

Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	•	10-Feb	154	32.39	R\$ 4,988.06
•	Buy	10-Feb	107	32.40	
Non-Voting Shares	Buy				R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	32	32.11	R\$ 1,027.52
Non-Voting Shares	Buy	10-Feb	26	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb	56	32.13	R\$ 1,799.28
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	3	32.15	R\$ 96.45
Non-Voting Shares	Buy	10-Feb	34	32.16	R\$ 1,093.44
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	74	32.18	R\$ 2,381.32
Non-Voting Shares	Buy	10-Feb	49	32.19	R\$ 1,577.31
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	69	32.22	R\$ 2,223.18
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb		32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-voling shares	Биу	i o-i-en	24	JZ.ZJ	ηφ / /4.00

					_
Non-Voting Shares	Buy	10-Feb		32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	78	32.33	R\$ 2,521.74
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	156	32.39	R\$ 5,052.84
Non-Voting Shares	Buy	10-Feb	106	32.40	R\$ 3,434.40
Non-Voting Shares	Buy	10-Feb	82	32.41	R\$ 2,657.62
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	144	32.60	R\$ 4,694.40
	•	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy		37	32.04	
Non-Voting Shares	Buy	10-Feb			R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	3	32.07	R\$ 96.21
Non-Voting Shares	Buy	10-Feb	22	32.08	R\$ 705.76
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
Non-Voting Shares	Buy	10-Feb	135	32.20	R\$ 4,347.00
Non-Voting Shares	Buy	10-Feb	95	32.21	R\$ 3,059.95
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb	24	32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	5	32.26	R\$ 161.30
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96

					_
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	119	32.61	R\$ 3,880.59
Non-Voting Shares	Buy	10-Feb	6	32.62	R\$ 195.72
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59	32.14	R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	9	32.17	R\$ 289.53
Non-Voting Shares	Buy	10-Feb	71	32.17	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	51	32.19	R\$ 1,641.69
•	•	10-Feb		32.20	R\$ 4,347.00
Non-Voting Shares Non-Voting Shares	Buy Buy	10-Feb	135 96	32.21	R\$ 3,092.16
•	•		96 67	32.22	
Non-Voting Shares	Buy	10-Feb	17	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb			R\$ 547.91
Non-Voting Shares	Buy	10-Feb	96	32.24	R\$ 3,095.04
Non-Voting Shares	Buy	10-Feb		32.25	R\$ 774.00
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04

Non-Voting Shares	Buy	10-Feb		32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	4	32.29	R\$ 129.16
Non-Voting Shares	Buy	10-Feb	48	32.30	R\$ 1,550.40
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	4	32.34	R\$ 129.36
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	27	32.36	R\$ 873.72
Non-Voting Shares	Buy	10-Feb	25	32.37	R\$ 809.25
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	154	32.39	R\$ 4,988.06
Non-Voting Shares	Buy	10-Feb	107	32.40	R\$ 3,466.80
Non-Voting Shares	Buy	10-Feb	83	32.41	R\$ 2,690.03
Non-Voting Shares	Buy	10-Feb	47	32.42	R\$ 1,523.74
Non-Voting Shares	Buy	10-Feb	13	32.43	R\$ 421.59
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	37	32.46	R\$ 1,201.02
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	25	32.50	R\$ 812.50
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	26	32.53	R\$ 845.78
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	116	32.61	R\$ 3,782.76
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	4	32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb	1	32.01	R\$ 32.01
Non-Voting Shares	Buy	10-Feb	34	32.04	R\$ 1,089.36
Non-Voting Shares	Buy	10-Feb	38	32.05	R\$ 1,217.90
Non-Voting Shares	Buy	10-Feb		32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb		32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb		32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
<u> </u>	Buy	10-Feb	49	32.11	
Non-Voting Shares Non-Voting Shares	•	10-Feb		32.11	R\$ 1,573.39
9	Buy		26 54	32.12	R\$ 835.12
Non-Voting Shares	Buy	10-Feb			R\$ 1,735.02
Non-Voting Shares	Buy	10-Feb		32.14	R\$ 1,928.40
Non-Voting Shares	Buy	10-Feb	5	32.15	R\$ 160.75
Non-Voting Shares	Buy	10-Feb	33	32.16	R\$ 1,061.28
Non-Voting Shares	Buy	10-Feb	6	32.17	R\$ 193.02
Non-Voting Shares	Buy	10-Feb	70	32.18	R\$ 2,252.60
Non-Voting Shares	Buy	10-Feb		32.19	R\$ 1,706.07
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,250.40
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	67	32.22	R\$ 2,158.74
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28

Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
Non-Voting Shares	Buy	10-Feb	38	32.46	R\$ 1,233.48
Non-Voting Shares	Buy	10-Feb	14	32.47	R\$ 454.58
Non-Voting Shares	Buy	10-Feb	24	32.48	R\$ 779.52
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	52	32.56	R\$ 1,693.12
Non-Voting Shares	Buy	10-Feb	31	32.57	R\$ 1,009.67
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	117	32.59	R\$ 3,813.03
Non-Voting Shares	Buy	10-Feb	257	32.60	R\$ 8,378.20
Non-Voting Shares	Buy	10-Feb	118	32.61	R\$ 3,847.98
Non-Voting Shares	Buy	10-Feb	8	32.62	R\$ 260.96
Non-Voting Shares	Buy	10-Feb	4	32.63	R\$ 130.52
Non-Voting Shares	Buy	10-Feb		32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.04	R\$ 1,185.85
Non-Voting Shares	•	10-Feb	33	32.06	R\$ 1,057.98
•	Buy Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares Non-Voting Shares	•	10-Feb	22	32.07	R\$ 705.76
•	Buy		66		
Non-Voting Shares	Buy	10-Feb		32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	50	32.11	R\$ 1,605.50
Non-Voting Shares	Buy	10-Feb	27 52	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb		32.13	R\$ 1,670.76
Non-Voting Shares	Buy	10-Feb	61	32.14	R\$ 1,960.54
Non-Voting Shares	Buy	10-Feb	6	32.15	R\$ 192.90
Non-Voting Shares	Buy	10-Feb	30	32.16	R\$ 964.80
Non-Voting Shares	Buy	10-Feb	7	32.17	R\$ 225.19
Non-Voting Shares	Buy	10-Feb	71	32.18	R\$ 2,284.78
Non-Voting Shares	Buy	10-Feb	52	32.19	R\$ 1,673.88
Non-Voting Shares	Buy	10-Feb		32.20	R\$ 4,314.80
Non-Voting Shares	Buy	10-Feb	96	32.21	R\$ 3,092.16
Non-Voting Shares	Buy	10-Feb	68	32.22	R\$ 2,190.96

Edgar Filing: BANK BRADESCO - Form 6-K

N	Б	40 5 1	4-7	00.00	D# 547.04
Non-Voting Shares	Buy	10-Feb	17	32.23	R\$ 547.91
Non-Voting Shares	Buy	10-Feb	97	32.24	R\$ 3,127.28
Non-Voting Shares	Buy	10-Feb	23	32.25	R\$ 741.75
Non-Voting Shares	Buy	10-Feb	4	32.26	R\$ 129.04
Non-Voting Shares	Buy	10-Feb	48	32.27	R\$ 1,548.96
Non-Voting Shares	Buy	10-Feb	9	32.28	R\$ 290.52
Non-Voting Shares	Buy	10-Feb	5	32.29	R\$ 161.45
Non-Voting Shares	Buy	10-Feb	47	32.30	R\$ 1,518.10
Non-Voting Shares	Buy	10-Feb	77	32.33	R\$ 2,489.41
Non-Voting Shares	Buy	10-Feb	5	32.34	R\$ 161.70
Non-Voting Shares	Buy	10-Feb	22	32.35	R\$ 711.70
Non-Voting Shares	Buy	10-Feb	26	32.36	R\$ 841.36
Non-Voting Shares	Buy	10-Feb	26	32.37	R\$ 841.62
Non-Voting Shares	Buy	10-Feb	6	32.38	R\$ 194.28
Non-Voting Shares	Buy	10-Feb	155	32.39	R\$ 5,020.45
Non-Voting Shares	Buy	10-Feb	109	32.40	R\$ 3,531.60
Non-Voting Shares	Buy	10-Feb	80	32.41	R\$ 2,592.80
Non-Voting Shares	Buy	10-Feb	46	32.42	R\$ 1,491.32
Non-Voting Shares	Buy	10-Feb	14	32.43	R\$ 454.02
Non-Voting Shares	Buy	10-Feb	27	32.45	R\$ 876.15
•	Buy	10-1 eb 10-Feb	36	32.46	R\$ 1,168.56
Non-Voting Shares	•				
Non-Voting Shares	Buy	10-Feb	15	32.47	R\$ 487.05
Non-Voting Shares	Buy	10-Feb	25	32.48	R\$ 812.00
Non-Voting Shares	Buy	10-Feb	26	32.50	R\$ 845.00
Non-Voting Shares	Buy	10-Feb	1	32.52	R\$ 32.52
Non-Voting Shares	Buy	10-Feb	25	32.53	R\$ 813.25
Non-Voting Shares	Buy	10-Feb	_1	32.54	R\$ 32.54
Non-Voting Shares	Buy	10-Feb	51	32.56	R\$ 1,660.56
Non-Voting Shares	Buy	10-Feb	32	32.57	R\$ 1,042.24
Non-Voting Shares	Buy	10-Feb	100	32.58	R\$ 3,258.00
Non-Voting Shares	Buy	10-Feb	116	32.59	R\$ 3,780.44
Non-Voting Shares	Buy	10-Feb	256	32.60	R\$ 8,345.60
Non-Voting Shares	Buy	10-Feb	120	32.61	R\$ 3,913.20
Non-Voting Shares	Buy	10-Feb	7	32.62	R\$ 228.34
Non-Voting Shares	Buy	10-Feb	3	32.63	R\$ 97.89
Non-Voting Shares	Buy	10-Feb	33	32.04	R\$ 1,057.32
Non-Voting Shares	Buy	10-Feb	37	32.05	R\$ 1,185.85
Non-Voting Shares	Buy	10-Feb	32	32.06	R\$ 1,025.92
Non-Voting Shares	Buy	10-Feb	2	32.07	R\$ 64.14
Non-Voting Shares	Buy	10-Feb	23	32.08	R\$ 737.84
Non-Voting Shares	Buy	10-Feb	66	32.09	R\$ 2,117.94
Non-Voting Shares	Buy	10-Feb	49	32.11	R\$ 1,573.39
Non-Voting Shares	Buy	10-Feb	27	32.12	R\$ 867.24
Non-Voting Shares	Buy	10-Feb	55	32.13	R\$ 1,767.15
Non-Voting Shares	Buy	10-Feb	59		R\$ 1,896.26
Non-Voting Shares	Buy	10-Feb	00	J 1 Y	1 (φ 1,000.20
Tion voing onales	Duy	10 1 60			